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CH2 200M /div 2 O /i B0 0K Sa/s
Vmeter: 1000 V Model: DF-1P Figure B.2 Current Carrying
Open Circuit Vpeak = 1010 V Waveform: V peak open circuit

Using PHV 642-L 100:1 PROBE
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CHZ 2.000 Adey

Vmeter: 1000 V
Open Circuit Vpeak = 1010 V, at BNC Vout/100 output,
Using 1:1 BNC Probe.
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Model:
Waveform:

DF-1P Figure B.2 Current Carrying
V peak- BNC 100-1
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CH2 100m Adive 2. 000rnsdiv 0.0k Sals
Vmeter: 1000V Model: DF-1P Figure B.2 Current Carrying
Short circuit Ipeak = 52.7 A Waveform: | peak_pearson

Using CW#6 .01V/A Current monitor.
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CH2 10.0v /div 500.Ons/div 50. 0K Sa/s
Vmeter: 1000V Model: DF-1P Figure B.2 Current Carrying
Short circuit Irise = 1.02uS < 4uS, at BNC 1V/A Output. Waveform: Irise_BNC

Using Agilent N2862A 10:1 Probe
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CH2 100 i 2 000wl B DK Sl
Vmeter: 1000V Model: DF-1P Figure B.2 Current Carrying
Short circuit Ipeak = 52.2 A, at BNC 1V/A Output. Waveform: Ipeal_BNC

Using Agilent N2862A 10:1 Probe
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CHZ 10.00 A die

Vmeter: 1000V
Short circuit Idur = 18.1 mS, at BNC 1V/A Output.

Using Agilent

N2862A 10:1 Probe

2000 Adiy A0 0ESafs

Model: DF-1P Figure B.2 Current Carrying
Waveform: Idur_BNC



